Jame  Name:

" Order of Operations

Solve the equations.

1.(50+10)x 7 =

2.30"‘52)(2: BIMDAS
3.5x12+8 xbH= Brackets

460 +60 x 3 = Indices

Multiplication

0. (15+15)x3=_  pivision

6.9x5+5x9=__ Addition
7 2°x32+5x4= Subtraction
8.6x6-5xb=__
9.108-12x9=___

10. 50 + 10° x 2 =

Worksheet 3




s Name:

" Order of Operations

Solve the equations.

1.(60+10)x 7 = 420
2.30+5% x2=80
3.5x12+8x5=100
4. 60+ 60 x 3 =240
5.(15+15)x 3 =90
6.9x5+5x9=90
7.22x 3% +5x4 =56
8.6 x6-bxb=11
9.108-12x9=0

10. 50 + 10% x 2 = 250

Worksheet 3

BIMDAS

Brackets

Indices

Multiplication

Division
Addition

Subtraction




